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I. Answer all questions, Each carries 2 rn"a,“rk.
1) If two variables are pmsitivély 5Q'rrgtatgt;[L then ris
2) The probability of geﬂih@ a head when toss_ir_‘.l‘g'“a coin is
3) The mean of a standard normél distrib.uticm s

4) The parameters of Binomvial,diét}ibuj[imn are (4x12=2)

PART — B
Il. Answer four questions, Each cames one mark.
5) Define conditional probability. A
6) Whatts positive éorffaj'aticm ?
7) What is meant by regression lines 7
8) What is time series analysis ' ?
9) What is permutation ?
10) What is normal distribution 7 (4x1=4)
PART - C
ll. Answer any six questions (not exceeding one page). Each carries three marks.
11) What are the applications of theory of probability ?

12) What are the properties of the normal distribution ?

13) What are the different methods of measuring Trend ?
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14) From the following, compute Karl Pearson's correlation coefficient.

X 6 8 12 15 18 20 24 28 31
y 10 12 15 15 18- | 25 22 26 28

15) Out of 500 items selected for inspection, 0.2% are found io be defective.
Find how many lots will contain exactly no defective if there are 1000 lots.

16) In how many ways can 3 balls be drawn from a bag centaining 10 white balls
and 10 red balls 7

17) A class consists of 1;’]{} students, 25 of them are girls and 75 boys, 20 of
them are rich and-remaining poor, 40 of therh are fair complexioned. What
Is the probability of selecting a fair cempiemened rich girl ?

18) Find the trend for the feilewmg eerlee uelng a three year weighted moving

P

average with weights 1, 2;‘1. N

f ,as\ - 2 Cq %
Year 1 ). g 4 5 B 7
i /N P
Value Z 4 5 » 7 i F 10 13 (6x3=18)
2 © 5;, i
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IV. Answer any two quest?&ns Each carries e:gg\tﬁmerke
19) What are the dlﬁerent wpee and significances of correlation ? Explain.

20) If.the'chance of werkere suffering from occupational hazards is 25%. What
i5-the probability that out of 6 workers selected at rendem four or more will

suffer from the hazards 7

21) From the following particulars, ebtei'ﬁ the regression equation for costs
related to age :

Age of cars (in years) 2 4 6 8
Maintenance cost (in ‘000) | 10 | 20 | 25 30

(2x8=16)




